

# Result on Common Fixed Point of Two Continuous Mappings

A. K. Dhokiya

Sardar Patel College of Engineering; Bakrol-388 315, Anand, Gujarat, India

**Abstract**— Let  $X$  be a closed subspace of a Hilbert Space &  $T_1, T_2 : X \rightarrow X$  be continuous mappings satisfying the given condition then  $T_1$  &  $T_2$  have unique common fixed point in  $X$ .

**Keywords**— Continuous map, Common Fixed Point, Banach Space, Completeness, Uniqueness.

## I. INTRODUCTION

The study of Existence & Uniqueness of Coincidence Point & Common Fixed Point of Mappings satisfying certain contractive conditions has been an interesting field of Mathematics from 1922, when Banach stated & proved his famous result (Banach Contraction Principle, [1]).

In recent years, several authors have been obtained common fixed point results for different classes of mappings on various spaces. In this paper, we prove unique common fixed point theorem for two continuous self mapping satisfying given condition which is generalized & motivated from the results of [2],[3] and [4].

## II. MAIN RESULT

### Theorem :1

Let  $X$  be a closed subspace of Hilbert Space and  $T_1, T_2 : X \rightarrow X$  be continuous mappings such that :

$$\begin{aligned} \|T_1x - T_2y\| \leq & a_1 \frac{\|x - y\|^p [1 + \|y - T_2y\|^p]}{[1 + \|x - y\|^p]} \\ & + a_2 [\|x - T_1x\|^p + \|y - T_2y\|^p] \\ & + a_3 [\|x - T_2y\|^p + \|y - T_1x\|^p] \\ & + a_4 \|x - y\|^p \end{aligned}$$

for all  $x, y \in X$  with  $x \neq y$  and  $p \in \mathbb{N}$ , where  $a_1, a_2, a_3, a_4$  are non-negative real numbers with  $a_1 + 2a_2 + 2^{p+1}a_3 + a_4 < 1$ . Then  $T_1$  &  $T_2$  have unique common fixed point in  $X$ .

**Proof** : Let  $x_0$  be an arbitrary point in  $X$  and define the sequence  $\{x_n\}$  as follows :

$$\begin{aligned} x_{2n} &= T_2x_{2n-1} \text{ for } n = 1, 2, 3, \dots \\ x_{2n+1} &= T_1x_{2n} \text{ for } n = 0, 1, 2, 3, \dots \end{aligned}$$

Suppose that  $n = 2m$  for some integer  $m$ . Then

$$\|x_{n+1} - x_n\| = \|x_{2m+1} - x_{2m}\| = \|T_1x_{2m} - T_2x_{2m-1}\|$$

From the given condition we have,

$$\begin{aligned} \|x_{n+1} - x_n\|^p &= \|x_{2m+1} - x_{2m}\|^p \\ &= \|T_1x_{2m} - T_2x_{2m-1}\|^p \\ &\leq a_1 \frac{\|x_{2m} - x_{2m-1}\|^p [1 + \|x_{2m-1} - T_2x_{2m-1}\|^p]}{[1 + \|x_{2m} - x_{2m-1}\|^p]} \\ &\quad + a_2 [\|x_{2m} - T_1x_{2m}\|^p + \|x_{2m-1} - T_2x_{2m-1}\|^p] \\ &\quad + a_3 [\|x_{2m} - T_2x_{2m-1}\|^p + \|x_{2m-1} - T_1x_{2m}\|^p] \\ &\quad + a_4 \|x_{2m} - x_{2m-1}\|^p \end{aligned}$$

This gives

$$\begin{aligned} [1 - a_2 - 2^p a_3] \|x_{2m+1} - x_{2m}\|^p \\ \leq [a_1 + a_2 + 2^p a_3 + a_4] \|x_{2m} - x_{2m-1}\|^p \end{aligned}$$

$$\therefore \|x_{2m+1} - x_{2m}\|^p \leq p(m) \|x_{2m} - x_{2m-1}\|^p$$

where

$$p(m) = \frac{[a_1 + a_2 + 2^p a_3 + a_4]}{[1 - a_2 - 2^p a_3]} \text{ for } m = 0, 1, 2, 3, \dots$$

Clearly

$$p(m) < 1, \forall m \geq 0 \text{ as } a_1 + 2a_2 + 2^{p+1}a_3 + a_4 < 1$$

Continuing in this way one gets

$$\begin{aligned} \|x_{n+1} - x_n\|^p &= \|x_{2m+1} - x_{2m}\|^p \\ &\leq p(m) \|x_{2m} - x_{2m-1}\|^p \\ &\quad \vdots \\ &\leq p(m)^n \|x_1 - x_0\|^p \end{aligned}$$

By Similar way one can see that above inequality is also true if  $n$  is an odd integer. Since  $0 \leq p(m) < 1$ , the sequence  $\{x_n\}$  is Cauchy sequence and therefore by completeness of  $X$ , one find  $\mu \in X$  such that

$$\lim_{n \rightarrow \infty} x_n = \mu$$

Since  $\{x_{2n}\}$  and  $\{x_{2n+1}\}$  are sub-sequences of  $\{x_n\}$  one gets

$$\lim_{n \rightarrow \infty} x_{2n} = \mu = \lim_{n \rightarrow \infty} x_{2n+1}$$

Next since  $T_1$  &  $T_2$  are continuous one arrives at

$$T_1(\mu) = T_1\left(\lim_{n \rightarrow \infty} x_{2n}\right) = \lim_{n \rightarrow \infty} T_1x_{2n} = \lim_{n \rightarrow \infty} x_{2n+1} = \mu$$

$$T_2(\mu) = T_2\left(\lim_{n \rightarrow \infty} x_{2n-1}\right) = \lim_{n \rightarrow \infty} T_2x_{2n-1} = \lim_{n \rightarrow \infty} x_{2n} = \mu$$

Hence  $\mu$  is common fixed point of  $T_1$  &  $T_2$ . Now to prove the uniqueness of common fixed point, let us take  $\nu(\mu \neq \nu) \in X$  to be another common fixed point of  $T_1$  &  $T_2$ . While  $\|\mu - \nu\| \neq 0$ .

Hence it follows that

$$\begin{aligned} \|\mu - \nu\|^p &= \|T_1\mu - T_2\nu\|^p \\ &\leq a_1 \frac{\|\mu - \nu\|^p [1 + \|\nu - T_2\nu\|^p]}{[1 + \|\mu - \nu\|^p]} \\ &\quad + a_2 [\|\mu - T_1\mu\|^p + \|\nu - T_2\nu\|^p] \\ &\quad + a_3 [\|\mu - T_2\nu\|^p + \|\nu - T_1\mu\|^p] \\ &\quad + a_4 \|\mu - \nu\|^p \end{aligned}$$

$$\therefore \|\mu - \nu\|^p \leq (a_1 + 2a_3 + a_4)\|\mu - \nu\|^p$$

which is a contradiction as

$$a_1 + 2a_3 + a_4 < a_1 + 2a_2 + 2^{p+1}a_3 + a_4 < 1$$

Thus  $\mu = \nu$ .

**Theorem : 2**

Let  $X$  be a closed subspace of Hilbert Space and  $T_1, T_2 : X \rightarrow X$  be continuous mappings such that :

$$\begin{aligned} \|T_1x - T_2y\| &\leq a_1 \frac{\|x - T_1x\|^p [1 + \|y - T_2y\|^p]}{[1 + \|x - y\|^p]} \\ &\quad + a_2 \frac{\|y - T_2y\|^p [1 + \|x - T_1x\|^p]}{[1 + \|x - y\|^p]} \\ &\quad + a_3 [\|x - T_1x\|^p + \|y - T_2y\|^p] \\ &\quad + a_4 [\|y - T_2y\|^p + \|x - T_1x\|^p] \end{aligned}$$

for all  $x, y \in X$  with  $x \neq y$  and  $p \in \mathbb{N} \cup \{\frac{1}{n} : n \in \mathbb{N}\}$ , where  $a_1, a_2, a_3, a_4$  are non-negative real numbers with  $a_1 + a_2 + 2(a_3 + a_4) < 1$ . Then  $T_1$  &  $T_2$  have unique common fixed point in  $X$ .

**Proof :** Let  $x_0$  be an arbitrary point in  $X$  and define the sequence  $\{x_n\}$  as follows :

$$\begin{aligned} x_{2n} &= T_2x_{2n-1} \text{ for } n = 1, 2, 3, \dots \\ x_{2n+1} &= T_1x_{2n} \text{ for } n = 0, 1, 2, 3, \dots \end{aligned}$$

Suppose that  $n = 2m$  for some integer  $m$ . Then

$$\|x_{n+1} - x_n\| = \|x_{2m+1} - x_{2m}\| = \|T_1x_{2m} - T_2x_{2m-1}\|$$

From the given condition we have,

$$\begin{aligned} \|x_{n+1} - x_n\|^p &= \|x_{2m+1} - x_{2m}\|^p \\ &= \|T_1x_{2m} - T_2x_{2m-1}\|^p \\ &\leq a_1 \frac{\|x_{2m} - T_1x_{2m}\|^p [1 + \|x_{2m-1} - T_2x_{2m-1}\|^p]}{[1 + \|x_{2m} - x_{2m-1}\|^p]} \\ &\quad + a_2 \frac{\|x_{2m-1} - T_2x_{2m-1}\|^p [1 + \|x_{2m} - T_1x_{2m}\|^p]}{[1 + \|x_{2m} - x_{2m-1}\|^p]} \\ &\quad + a_3 [\|x_{2m} - T_1x_{2m}\|^p + \|x_{2m-1} - T_2x_{2m-1}\|^p] \\ &\quad + a_4 [\|x_{2m-1} - T_2x_{2m-1}\|^p + \|x_{2m} - T_1x_{2m}\|^p] \end{aligned}$$

This gives

$$\begin{aligned} &[(1 - a_1 - a_3 - a_4) + (1 - a_1 - a_2 - a_3 - a_4)\|x_{2m} - x_{2m-1}\|^p] \|x_{2m+1} - x_{2m}\|^p \\ &\leq [(a_2 + a_3 + a_4) + (a_3 + a_4)\|x_{2m} - x_{2m-1}\|^p] \|x_{2m} - x_{2m-1}\|^p \end{aligned}$$

$$\therefore \|x_{2m+1} - x_{2m}\|^p \leq p(m)\|x_{2m} - x_{2m-1}\|^p$$

where

$$p(m) = \frac{(a_2+a_3+a_4)+(a_3+a_4)\|x_{2m}-x_{2m-1}\|^p}{(1-a_1-a_3-a_4)+(1-a_1-a_2-a_3-a_4)\|x_{2m}-x_{2m-1}\|^p}$$

for  $m = 0, 1, 2, 3, \dots$

Clearly

$$p(m) < 1, \forall m \geq 0 \text{ as } a_1 + a_2 + 2(a_3 + a_4) < 1$$

Continuing in this way one gets

$$\begin{aligned} \|x_{n+1} - x_n\|^p &= \|x_{2m+1} - x_{2m}\|^p \\ &\leq p(m)\|x_{2m} - x_{2m-1}\|^p \\ &\quad \vdots \\ &\leq p(m)^n \|x_1 - x_0\|^p \end{aligned}$$

By Similar way one can see that above inequality is also true if  $n$  is an odd integer. Since  $0 \leq p(m) < 1$ , the sequence  $\{x_n\}$  is Cauchy sequence and therefore by completeness of  $X$ , one find  $\mu \in X$  such that

$$\lim_{n \rightarrow \infty} x_n = \mu$$

Since  $\{x_{2n}\}$  and  $\{x_{2n+1}\}$  are sub-sequences of  $\{x_n\}$  one gets

$$\lim_{n \rightarrow \infty} x_{2n} = \mu = \lim_{n \rightarrow \infty} x_{2n+1}$$

Next since  $T_1$  &  $T_2$  are continuous one arrives at

$$T_1(\mu) = T_1\left(\lim_{n \rightarrow \infty} x_{2n}\right) = \lim_{n \rightarrow \infty} T_1x_{2n} = \lim_{n \rightarrow \infty} x_{2n+1} = \mu$$

$$T_2(\mu) = T_2\left(\lim_{n \rightarrow \infty} x_{2n-1}\right) = \lim_{n \rightarrow \infty} T_2x_{2n-1} = \lim_{n \rightarrow \infty} x_{2n} = \mu$$

Hence  $\mu$  is common fixed point of  $T_1$  &  $T_2$ . Now to prove the uniqueness of common fixed point, let us take  $\nu(\mu \neq \nu) \in X$  to be another common fixed point of  $T_1$  &  $T_2$ .

While  $\|\mu - \nu\| \neq 0$ .

Hence it follows that

$$\begin{aligned} \|\mu - \nu\|^p &= \|T_1\mu - T_2\nu\|^p \\ &\leq a_1 \frac{\|\mu - T_1\mu\|^p [1 + \|\nu - T_2\nu\|^p]}{[1 + \|\mu - \nu\|^p]} \\ &\quad + a_2 \frac{\|\nu - T_2\nu\|^p [1 + \|\mu - T_1\mu\|^p]}{[1 + \|\mu - \nu\|^p]} \\ &\quad + a_3 [\|\mu - T_1\mu\|^p + \|\nu - T_2\nu\|^p] \\ &\quad + a_4 [\|\nu - T_2\nu\|^p + \|\mu - T_1\mu\|^p] \\ &\therefore \|\mu - \nu\|^p \leq 0 \end{aligned}$$

which is a contradiction .

Thus  $\mu = \nu$ .

### III. CONCLUSIONS

The method adopted in the proof of common fixed point theorems reveal that yet there are various directions in which the Banach's fixed point theorem can be refined and extended.

### ACKNOWLEDGMENT

I am thankful to Dr. G.M.Deheri & Dr. P.A.Dabhi for carry out my research work. I am also thankful to "Sardar Patel Education Campus" for supporting my research work.

### REFERENCES

- [1] Banach, S., (1922). Sur les operations dans les ensembles abstraits et leur applications aux equations Integrals, Fund. Math.,3,133-181.
- [2] Ahmed, A. and Shakil, M.,(2006), "Some Fixed Point Theorems in Banach Spaces", Nonlinear Funct. Anal. and Appl.,11, 343-349.
- [3] Badshah, V.H. and Gupta, O.P.,(2005),"Fixed Point Theorems in Banach and 2-Banach Spaces", jnanabha,35,73-78.
- [4] Sharma, Aradhana and Sao, G.S.,(2015), Common Fixed point in Banach Space, International Journal of Modern Science and Engineering Technology,2, 54-59.